

# R M M

ROMANIAN MATHEMATICAL MAGAZINE  
www.ssmrmh.ro

*Find:*

$$\Omega = \lim_{n \rightarrow \infty} \frac{1}{(n+1)^2 4^n} \cdot \sum_{k=0}^n (2n+1-k) \binom{2n+1}{k}$$

*Proposed by Daniel Sitaru – Romania*

*Solution by Ravi Prakash-New Delhi-India*

$$\begin{aligned} a_n &= \sum_{k=0}^n (2n+1-2k) \binom{2n+1}{k} = \\ &= \sum_{k=0}^n \left[ (2n+1-k) \binom{2n+1}{k} - k \binom{2n+1}{k} \right] = \\ &= \sum_{k=0}^n \left[ (2n+1-k) \binom{2n+1-k}{k} - k \binom{2n+1}{k} \right] = \\ &= \sum_{k=0}^n (2n+1-k) \binom{2n+1-k}{k} - \sum_{k=0}^n k \binom{2n+1}{k} = \\ &= \sum_{k=0}^n (2n+1) \binom{2n}{k} - \sum_{k=0}^n (2n+1) \binom{2n}{k} = 0 \\ \Omega &= \lim_{n \rightarrow \infty} \frac{1}{(n+1)^2 4^n} \cdot a_n = \lim_{n \rightarrow \infty} \frac{1}{(n+1)^2 4^n} \cdot 0 = 0 \end{aligned}$$

# R M M

ROMANIAN MATHEMATICAL MAGAZINE

[www.ssmrmh.ro](http://www.ssmrmh.ro)

Let

$$a_n = \sum_{k=0}^n (2n+1-2k) \binom{2n+1}{k}$$
$$= \sum_{k=0}^n \left[ (2n+1-k) \binom{2n+1}{2n+1-k} - k \binom{2n+1}{k} \right]$$
$$= \sum_{k=0}^n (2n+1-k) \binom{2n+1}{2n+1-k} - \sum_{k=0}^n k \binom{2n+1}{k}$$

But  $k \binom{2n+1}{k} = (2n+1) \binom{2n}{k-1}$

and  $(2n+1-k) \binom{2n+1}{2n+1-k} = (2n+1) \binom{2n}{2n-k}$

$$\therefore \sum_{k=0}^n (2n+1-2k) \binom{2n+1}{k} = \sum_{k=0}^n (2n+1) \binom{2n}{2n-k} - \sum_{k=0}^n (2n+1) \binom{2n}{k}$$
$$= 0$$

9  
9:30 THU

10  
शुक्र FRI

$$\Omega = \lim_{n \rightarrow \infty} \frac{1}{(n+1)^2 4^n} (a_n)$$
$$= 0$$